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% SR | Wwhe | InTaxrUILne 3% WA | wIeAe LASAXUUIBAR
(fugu) (>Y) (>X) (ugw) (>Y) (>X)
Weans U4 | 4 3 4x3=12 AminA1Ens U.4 | 3.5 4 3.5x4=14
Werans U5 | 2.5 3 25x3=7.5 | AddaA@ns 4.5 | 3 4 3x4=12
U WY 30U 2X=12+47.5 U I3 2Y=4+44 |59U SX=14+12
=3+3=6 =19.5 =8 = 26
HANTSEUTITEAIVINeFER S (%J _305 | HaMISeunImTEIvIAdamans (E) _3.05
£ | £ |
Y Y
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A1 WN3A | wuEY | Insaxulagnn A1 WN3A | WU | NIaxuULNn
(ﬁugqu) nn (XX) (ﬁugﬂu) (2Y) (=X)
(XY)
Mg UL wmen 1| 2.5 1.5 2.5x1.5 =375 | Agun 1.1 oy 1 2 1.5 2x1.5=3
W N1 wmen 2| 2 1.5 | 2x1.5=3.00 AR 1.1 WeN 2 | 2 1.5 2x1.5=3
WO U2 Weu 1| 35 1.5 |3.5x1.5=5.25 |Auau2waul | 2 1.5 2x1.5=3
M1 U2 W 2| 3 1.5 | 3x1.5=4.50 AMRI2 NBU 2 | 2 1.5 2x1.5=3
WMIT U3 Wmeu 1| 4 1.5 | 4x1.5=6.00 AR U3 MaN 1 | 2.5 1.5 2x1.5=3.75
PIPEY WY W2 X U WY W2 X
=1.5 =22.5 =7.5 =15.75
NANISIIEUTINT IS NANISITBUTINT YY)
%mmam‘{%] (%) =300 mﬁmmam%{%} [%J =210
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391 WSA | AUIAR | LNTAXUUILAR 391 LNSA | UUILAR | LNSAXKAUILAR
(Wugw) (ZY) (ZX) (Wugw) (=Y) (ZX)
Anenaans U.4 AMAANENS U.4
Anenaans U.5 AMAANERS U.5
394 U DY U > X 374 U DY U > X
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bL INTA | KUIAA | LNTAXWUILAR A1 INTA | AUWAR | LNTAXWUBAA
(ﬁugﬂu) (xY) (&X) (ﬁugﬂu) (ZY) (X)
g1 1.1 ey 1 AR 3.1 o 1
WG U1 Wy 2 AMA 1.1 LNDY 2
WG 1.2 wow 1 AMA 1.2 DU 1
NG 1.2 o 2 AMMIL2 LD 2
WG 1.3 weu 1 AMA 1.3 WU 1
33U WY 33U > X 374U U 2Y W2 X
NANISLIYUTINTIEINN NANSLIYUTINTIEINN
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2y 2




